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() Determine whether. the paints P, (-6, 4, 8),
Py, - 2, 0) and Py (I, -5, 3) lie*on the same-

line.

Where does the line

x=2 4 yp=734z=1+2
intersect the plane 2x — 7y + 3z = 6. ~ 3+3%

Find the equation of the plane through the points

P (=2, 1, 4), Py(1, 0, 3) that is perpendicular to the plane
4 —y + 3z =2 : : 6%
Find a maximum independent set of vertices for the
following graph. What is the minimum number - of

independent set needed to cover all the vertices ? 6%
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All questions are compulsory.

Attempt any fwo parts from each question.
Identify and sketch the curve :

G2 =-(+2)

~and also’ label the focus, vertex and directrix. .~ 6

Sketch the ellipse :
9 — 3P + 25(y + 1) = 225

also label foci, vertices and ends of major and -minor

Ir
)

——

Maximum Marks : 75

axes. : : 6

Describe the graph- of the equa'tion :

xz‘—4y2+2x+'8y»730.' 6

R : PTO. -
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Find the equation of the parabola that has its vertex

at.(L' 1) and directrix y= ~ 2. Also state the réﬂf;ctiqn

property of parabola. : 6

Find an equation for the ellipse with length of major

axis 10 and with vertices (3, 2) and\ (3,‘—' 4) and also

sketch it. . g ' 6

Find and- sketch tﬁé curve. of the hyperbola whose

asymptotes are y = 2x + | and y = 2x + 3 ‘and the

hyperbola passes through the origin. - . Lle

Consider the eﬁuation xte Ioﬁxy +1 l'yz'-s; 64=0. -

Rotate the coordinate axes to remove the J_ry' term and

then identify the type of the conic represented by the

.above equation. 6

Let an x'y-coordinate system be obtained by rotating

an xy-coordinate system through an angle 6 = 60°.

() Find the x'y-coordinate of the point whose

xy-coordinates are (2,6).-

=

e

(a)

(b)
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(::.") Find an equation of the curve J}xy+ y3 =6in

x'y*~coordinates. 6

Find the equation of the sPheie wi.th center at
(2,~1,-3) and is tangent to the z.fplane. 6
(i) Find a vector v l;av.ing opposite d-irection as the

0 vec*or from the. point‘ P(l,0,6)toQ (-3, 1.1

with || v || = 5.

(i) Sketch the surface z2 + y* = 4 in 3-space. 3+3%

(i) Using vector, find the area. of triangle with vertices
A@, 2, 0), B(-1, 0, 2) and C(0, 4, 3).
() Letu=i-3j+2ky=1i%]jandw=2i+

2j — 4k. Find the volume of the parallelopiped with

adjac‘en-t edges u, v and w. 3+3'%
Prove * that

v e uQur v e
Find the distance _betweeﬁ tl;e-skeyv lines : . 6

Li:x=1+‘7f y=3+1. z=5-31, —eo<t<o0;.
L :ix=4-r y=6 = z=T%2, —o<i<oo

P
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() () Find a matching or explain why none exists for

the following graph :

(ii) Given three pitchers: 8. 5 and 3 liters capacity.
Only 8 liter pitcher is full. Make at least one of
them contain exactly 4 liter of water with the
minimum number of water transfers. 3+3%

(¢)  Defing Latin square. Construct a Latin square of order

5 on {e, &, &, e &%) 6Y
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